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PART -1 (ENGLISH)

have 1 put the right word.
e and shade its answer
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22. Fasten your seat belts; we are about to land.

The underlined word “about” used in the above sentence is. .
A. preposition B. adverb C. conjunction D. adjective

23. All that glitters is not gold.
The undcrlmed word “that” use
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D. strings

Which of the symbol from second row fills the box with
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PART — IHL(MATHEMATICS) .
rangle is /and w respectively, then permeter of rectangle is

C.20n D.2Mw

41, If length and width of ree
a; _2[(""\9)
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PART — II1 (GENERAL KNOWLEDGE) cuRRENT AFFAIRS)

bly of Pakistan has?
56. mNanomlw Y&wmvm
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A, Switzerland.

Tk L
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T -1V .
PART = IV(COMpy i)
) system is a st of programs containing ingeuctions that socedinate ol tha astivities
71. A(n ystem 1s 5
; hardware resources.

among computer C. management

A, operating
B. disk-based D. platform
72. A cross-platform program is one that runs :
A. only on one operating system C. the same on multiple operating
systems

B. differently on every operating system  D. differently on one operating system

73. During a cold boot on a personal computer, the POST (power-on self test) results are
compared with data in a chip.

A. CMOS C. BIOS

B. UNIX D. SCSI

74.The s the core of an operating system that maintains the computer’s clock, starts
applications, and assigns the computer's resources, such as devices, programs, data, and
information.

A. cell C. nexus

B. gnd D. kernel

75. The ___is firmware that contains a computer’s startup instructions.

A. POST C. CMOS

B. BIOS D. DIOS

76. Witha ___, users interact with menus and visual images such as icons, buttons, and other
objects to issue commands.
A. command-line interface
B. menu-driven interface

C. performance-monitor interface
D. graphical user interface (GUI)

77. With memory, the operating system allocates a portion of a storage medium, usually
the hard disk, to function as additional RAM.
A. virtual C. device

B. performance D. managed

78. A(n) is a small program that tells the operating system how to communicate with a

specific device.

A. dnver C. utility

B. monitor D. OS

79. is the process of encoding data and information into an unreadable form.
A. Encryption C. Transmission

B. Formatting D. Spooling
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80. The Reeyele Bin is conf
size of your hard disk.

red automatically to be able to store files equal to of the

A. 1 percent
B. 5 percent
C. 10 percent
D. 15 percent

81. The of a directory structure 15 the topmost directory on the disk.

A. root
B. tree
C. subdirectory
D. base

82. How long is an IPv4?

. 128 bits B. 64 bits C. 48 bits D. 32 bits
. Which of the following is a Client Operating System?

A. Windows Server 2003 B. Windows Server 2016

C. Windows Server 2012 D. Windows 10

84. Which of the following file format supports in windows 7?

A.NTFS B. BSD C.EXT D. FAT32

85. DNS is the abbreviation of
A. Dynamic Network System B. Domain Name System
C. Dynamic Name System D. Domain Network Service

! 86. The short key to print a document is

A. Ctr+P C. Ctr+O
B. Alt+P D. Ctr+R
87. There can be in

A. multiple work sheets, one workbook  C. only one work sheets, one workbook
B. one work sheets, multiple workbook  D. none of these
88. If A3 ids the address of a cell then A is its:

A. column number C. row number

B. cell address D. none of these
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